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Ammonium : # of significant SNPs =11 < - Arginine : # of significant SNPs =3 < - Glutamine : # of significant SNPs = 1
(average read depth =316.6) 0 (average read depth =159) 0 (average read depth =31.1)
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Proline : # of significant SNPs = 15 < _ Glutamate : # of significant SNPs = 2 < _ Urea : # of significant SNPs =7
(average read depth =347) " (average read depth =47.6) " (average read depth=126)
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Allantoin : # of significant SNPs = 486 < - GIn/Allantoin : # of significant SNPs = 2 < GIn/Proline/Allantoin/Urea : # of significant SNPs =5
(average read depth = 233.2) 9 (average read depth =45.5) 0 (average read depth =45.3)
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GIn/Proline/Allantoin : # of significant SNPs =5 <+ GIn/Proline : # of significant SNPs = 3
(average read depth =53.1) Fi (average read depth=45.4)
2 -
S
8 ~ -
£
2
‘ || ‘ ‘ o ‘ ‘ ‘
I I I I I I I I I I I I I I I I I I I I I I
0.0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1.0 0.0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1.0

allele frequency allele frequency



